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M.B.A. DEGREE EXAMINATION, SEPTEMBER 2021
First Semester
ACCOUNTING FOR MANAGEMENT
(2017 Admission Onwards—Supplementary)

Time : Three Hours Maximum : 60 Marks
Part A

Answer any five questions.
Each question carries 6 marks.

What are accounting equations ? Explain.

Discuss the proforma of Profit and Loss Account.
What are generally accepted accounting principles ?
List out the objectives of financial accounting.

What are the objectives of financial statements analysis ?
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The income statement of a concern is given below. Prepare a comparative income statement
and study the profitability position of the company :

2017 2018
(Rs. in thousands)
Net sales 785 900
Cost of goods sold 450 500
Operating expenses
General 70 72
Selling 80 90
Non-operating expenses
Interest paid 25 30
Income Tax 70 80
7. Calculate the trend percentages from the following data by taking 2010 as base year :
Year Sales Stock Profit before tax
(Rs.) (Rs. lakhs)
2010 1881 709 321
2011 2340 761 435
2012 2655 818 458
2013 3021 944 527
2014 3768 1154 672 .
Turn over
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8. For the data given below, compute current ratio and quick ratio :

10.
11

12.

2

Rs. Rs.
Sundry debtors 40,080 Sundry creditors 30,000
Prepaid expenses 20,000 | Debentures 1,00,000
Short-term investments 10,000 Inventories 20,000
Loans 5,000 Outstanding expenses 20,000
Bills payable 10,000 Bank Overdraft 10,000

Part B

Answer any two questions.

Explain the international accounting standards.

Discuss the scope of Management Accounting.

Each question carries 10 marks.

(5 x 6 = 30 marks)

The operating profit of A Limited after charging interest on debentures and tax is a sum of
Rs. 10,000. The amount of interest charged as Rs. 2,000. The provision for tax has been
made of Rs. 4,000. Calculate fixed dividend cover, interest cover and debt service coverage

ratio.

Calculate the solvency ratio and liquidity ratio for the data given below :

Liabilities Rs. Assets Rs.
Share capital 25,000 | Fixed Assets 30,000
Fixed liabilities 12,500 | Current Assets | 20,000
Current liabilities | 12,500

50,000 50,000

Part C (Compulsory)

It carries 10 marks.

13. From the following data, prepare a Balance Sheet :

Current ratio = 1.75

Liquid ratio = 1.25

Stock turnover ratio = 9

Gross profit ratio = 25 %

Debt collection period = 1% months
Reserves and surplus to share capital = 0.2
Turnover to fixed assets = 1.2

Capital gearing ratio = 0.5

Fixed assets to network = 1.25

Sales for the year = Rs. 12,00,000

(2 x 10 = 20 marks)

(1 x 10 = 10 marks)




image3.jpeg
NEEREEE
m

QP CODE: 4000100004 Reg No

Name

M.B.A. DEGREE EXAMINATION, OCTOBER 2021
First Semester
Faculty of Management Science
Core - MB010104 - ACCOUNTING FOR MANAGEMENT
o 2019 Admission Onwards
AD53F979

Time: 3 Hours Maximum Marks: 60

Part A

Answer any five questions. Each question carries 2 marks.

1. What are 'Nominal Accounts' Give examples.

2. What do you mean by inflation accounting.

3. List the difference between vertical analysis and horizontal analysis
4. Wirite a note on inter statement ratio.

St What are the various leverage ratios?

6. State the difference between absorption costing and marginal costing.

7. What is the purpose of preparing the budget.
(5%2 = 10 Marks)
Part B

Answer any five questions. Each question carries 6 marks.

8. “Responsibility accounting is an important device for control” Explain?
9. How wide spread is the adoption of IFRS around the world?

10. Summarize the different methods used for the analysis and interpretation of financial
statements.

11.  From the balance sheet of ABCD Ltd. Calculate
(i) current ratio
(ii) liquid ratio from the following figures: Share capital Rs 1,52,000 Cash in hand and at
Bank Rs 30,000 Fixed Assets Rs 1,13,000 Creditors Rs 20,000 (5% Debentures) Rs
24,000 Bill Payables Rs 4,000 Debtors Rs 18,000 Stock Rs 52,000 General reserve Rs 8,
000 Profit and Loss A/c Rs 5,000
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12.
13.

14.

15.

Explain the key mechanisms and application of dupont analysis?

s

Explain in detail the classification of budget.

Prepare a flexible budget for production at 80% and 100% activity on the basis of the
following information: Production at 50% capacity 10.000 units Raw materials Rs.100 per
unit Direct labour Rs.50 per unit Expenses Rs.20 per unit Factory expenses Rs.1,00,000
(60% fixed) Administration expenses 60,000 (50% variable)
(5x6 = 30 Marks)
PartC
Answer any two questions. Each question carries 10 marks.

Question number 17 is compulsory .

Following is the Trial Balance of M/S. Krishna Agencies as on 31st March 2012. Prepare
trading, Profit & Loss account and Balance sheet.

Debit (Rs.) [Credit (Rs.)
Capital 1,00,000
Drawings 18,000
Buildings 15,000
Furniture & Fittings 7,500
Motor Van 25,000
Loan from Hari @ 12% interest 15,000
Interest paid on loan 900
Sales 1,00,000
Purchases 75,000
Opening Stock 25,000
Establishment Expenses 15,000
\Wages 2,000
Insurance 1,000
Commission received 4500
Sundry debtors 28,100
Bank balance 20,000
ISundry Creditors 10,000
Interest paid on loan 3000

2,32,500 2,32,500

Adjustments:

1. The value of stock on 31.12.2012 was Rs. 32,000
2. Outstanding Wages Rs.500 i
3. Prepaid Insurance Rs.300
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4. Commission received in advance Rs.1,300 A
5. Allow interest on capital @10% '
6. Provide depreciation for Building @ 2.5%; Furniture & Fittings 10%; and Motor

Van 10%
7. Charge interest on drawings Rs.500
8. Accrued Interest Rs.500

16. The summarized balance sheet of Bhadresh Ltd. as on 31.12.05 and 31.12.2006 are as
follows :

Liabilities 2005 2006 IAssets 2005 2006

Share Fixed
a}r 4,50,000 [4,50,000 e 4,00,000 3,20,000
capital asset

General
3,00,000 {3,10,000 [Investment|50,000 (60,000
Reserve

P &lalc 56,000 68,000 [Stock 2,40,000 |2,10,000
Creditors [1.68,000 |1,34,000 |Debtor 2,10,000 |4,55,000

=
& l75000 [10,000 [pank  [1.49.000 |1,97,000
provision
Mort,
i b 2,70,000
loan
10,49,000]12,42,000) 10,49,000]12,42,000

Additional Details:

1. Investment costing Rs. 8,000 were sold for Rs. 8,500

2. Tax provision made during the year was Rs. 9,000

3. During the year part of fixed assets costing Rs 10,000 was sold for Rs 12,000
and the profit was included in P & L A/c. You are required to prepare cash flow
statement for 2006.

Compulsory Question

17. An analysis of Tiptop Manufacturing Co.Ltd. led to the following information :

Cost element aracleiCost (% of Fixed Cost|
sales)
Direct material 32.8
Direct Labour 28.4
Factory Overheads 12.6 1,89,000
Distribution Overheads 4.1 58,400
IAdministrative Overheads|1.1 66,700
Paqe 3/4 Turn Over
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Budgeted sales are Rs.18,50,000. You are required to determine :

1. The break-even sales volume.

2. The profit at the budgeted sales volume

3. The profit if actual sales (a) Decreases by 10% (b) Increase by 5% from
budgeted sales.

(2x10 = 20 Marks)
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